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A 10 minute workout
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‘The diagram shows two identical squares. Hereis a graph

A0, 10)

€,
as,

‘The dots on theline ars equally spaced. What are
the coordinates ofthe point A7

Megan says, ‘The point B has coordinates (11,5
Use the graph to explain why she cannot be cortect.
¥ KS2 1997 Paper B level 4

Als the point (10,10)
What are the coordinates of 8 and C?

KS2 2005 Paner B level 4

Here s a pentagon drawn on a coordinate i The
pentagon is symrmetical.

01 23 45 6 7x

A,B and C are three comers of a rectangle. What
ate the coordinates of he fourth comer?
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~ Relate fractions to multiplication and division,

RS R TR R R A

CEERE R IR
eg 5+2=7 of6

2o
. express a quotient

as a fraction or decimal, e g. 67 + 5 = 13.4 or 13%; find ractions and percentages of whole-

number quantiiies, e.g. % of 95, 65% of £260

15

One third of a number s tweve. What is the
number?

KS2 1997 Mental test level 4

Whatis thres-quarters of two hundred?
KS2 2000 Mental test level 4

Whatis three-iths of forty pounds?
KS3 7003 Mantal test lovel 5

Joe has some packet money. He spends thiee-
quarters of it He has fity pence lef. Howmuch
pocket money did he have?

Y ontional test 2003 Mental est level 4

Caleulate % of 840,
KS22000Paper Alevel 4

Fillin the missing numbers.

KS3 2003 Paper 1 level 5|

Calculats 60% of765,
KS22000Paper B level 4

In a sale, there is ffl per centoffal pries.
Achalr casts fartefive pounds i the sale.
How muchwas it before the sale?

KS2 1999 Mental test level 4

Johnhad £5. He gave 25% ofitto chariy. How
much did he give?
Y4 optional test Paper B level 4

‘Sophie poured some water out f a e jug. Look

how much is left n the jug. Estimate how many
millires of water are ef.

Y5 optional test 2003 Paper Alevel 4
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Make 37

| Teachers' Notes | Hint | Solution | Printable page |

Stage: 2 and 3 Challenge Level: & &

Four bags contain a large number of s, 3s, 5s and 7s.

| Ladd

Pick any ten numbers from the bags above so that their total is 37.

interactivities creating expressions,/formulae
mathematical reasoning & proof addition & subtraction
patterned numbars working systematically 0dd and even numbers
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Josh has some files.
Not actual size

Each tile is 10cm long.

Two tiles fitted together are
18em long.

Atiachments

Calculate the length of five tiles fitted together.

K d[=s= [p P[0 O]

[ [ [ [ nkoomzne

OB 9 S WMVIR@ S 1005

=
Bore

Astart] (] » 3 objetive . | [O] sentttem... | ] vr6 104 . | ) v6-Mieo... | ) vr6104... | E]wr 6104 | E)v6-Micro... | E1key Stage...|[EThetmrjm. &[5





Calculate the length of the tiles fitted together.





Here is a spinner which is a
regular octagon. Write 1, 2 
or 3 in each section of the 
spinner so that 1 and 2 are
equally likely to come up
and 3 is the least likely to 
come up. 
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Four bags contain a large number of 1s, 3s, 5s and 7s.

Pick any ten numbers from the bags above so that the

Today on the web


� HYPERLINK "http://www.woodlands-junior.kent.sch.uk/maths/fractions/index.htm" ��http://www.woodlands-junior.kent.sch.uk/maths/fractions/index.htm�


Play one of the fraction based games





Challenge





Try this with other sets of three consecutive numbers (numbers which come one after the other).














Today on the web





� HYPERLINK "http://www.bbc.co.uk/schools/ks2bitesize/maths/shape_space_measures.shtml" ��http://www.bbc.co.uk/schools/ks2bitesize/maths/shape_space_measures.shtml�





Choose an area of shape, space and measures you find tricky, and work through the ‘Activity’, ‘Revision Bite’ and ‘Quiz’ links
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A factor tree can be used to help find the prime factors of 231.























So the three prime numbers which multiply to make 231 are 3,7 & 11.





-35 & -80





Challenge


There are five numbers with the following properties:





Mean = 5


Median = 4


Range = 7


Total = 25





Find a set of 5 numbers which satisfy these conditions. 








3





Use what you’ve learnt from the first problem to help you.





11





Mental Exercise





Here are some digit cards.





�





Write all the three-digit numbers, greater than 500 that can be made using these cards.








Mental Exercise





Arrange three 1.5s, three 1.6s and three 1.7s in this square so that every row, column and diagonal adds to the same total.





� INCLUDEPICTURE "http://nrich.maths.org/content/03/10/letme2/square.gif" \* MERGEFORMATINET ���





Mental Exercise


Imagine a cereal packet standing on the kitchen table.


Paint the front of the packet red. Now paint the back red.


Paint the top and bottom of the packet red and the other two faces blue.


Now study the packet carefully.





How many edges has the packet altogether? 





How many of these edges are where a red face meets a blue face? 





How many edges are where a red face meets another red face? 





How many edges are where a blue face meets another blue face? 








Mental Exercise


What’s the mode, median, mean and range of the following numbers?





5, 10, 4, 12, 4, 7





77





231





0.1difference





Imagine part of a numberline with these two numbers at either end.


                                                              








                  1.1 + 0.05 =  1.15              1.2 – 0.05 =





Calculate the difference between the 2 numbers provided 1.2 – 1.1 = 0.1. Divide this difference by 2 = 0.05 and add this to the lower of the two numbers (1.1 + 0.05 = 1.15) or subtract from the larger (1.2 – 0.05 = 1.15) to get the answer.





Hint:





There are 6 possible solutions.














3





Initially work out the fractions of the numbers provided ½ of 20 = 10, ¾ of 100 = 75 and one third of 60 =20.





You now need to find the whole numbers which 10 is a ¼ of, 75 is a ½ of and 20 is two thirds of. Think of the number of equal parts in the whole in each example and build from there. Take into consideration the numerators (1,1 and 2) linked to each of the numbers you’re trying to indentify.





Here’s one solution. Can you find any more?





1.6�
1.7�
1.5�
�
1.5�
1.6�
1.7�
�
1.7�
1.5�
1.6�
�



Hopefully you should’ve worked out that you need to find the sum of all the numbers (14.4) and divide by 3 to get the total for each row, column and diagonal (4.8).





�





�





What number is exactly halfway between one point one and one point two?











�





1.5, 1.5, 1.5


1.6, 1.6, 1.6


1.7, 1.7, 1.7





Write the three prime numbers which multiply to make 231.


×  ×  = 231











Megan makes a sequence of numbers starting with


100. She subtracts 45 each time.


Write the next two numbers in the sequence.





100	55	10		











Mental Exercise


Here are ten cards numbered 0 to 9:


� INCLUDEPICTURE "http://nrich.maths.org/content/03/01/penta5/digit_cards.gif" \* MERGEFORMATINET ���


Using all ten cards, rearrange them to make five prime numbers. 








Today on the web


� HYPERLINK "http://www.mathsnet.net/puzzles.html" ��http://www.mathsnet.net/puzzles.html�





Lots of games to play on this website - enjoy!




















Make 37





Four bags contain a large number of 1s, 3s, 5s and 7s.


�


Pick any ten numbers from the bag so that their total is 37.

















Millie and Ryan play a number game.





Is it under 20?	No





Is is under 25?     Yes





Is it odd?	Yes





Is it a prime number? Yes





What is the number?














7





12





8





4





0





B = 0, 10


C = 10, 20 





For c add on 10 to the y co-ordinate at point A and the x co-ordinate remains unchanged from point A. For b, add on 10 to the y co-ordinate at the point of origin, and the x co-ordinate remains unchanged. 











18 – 10 = 8





10 + (4 x 8) = 42





8cm





Mode = 4 (number that appears the most)


Median = 6 (median is the middle number, when the numbers are put in order of size – lowest to highest. When there are 2 numbers in the middle add them together and divide by 2.


Mean = 7 (The mean is the total of the numbers divided by how many numbers there are)


Range = 8 (The range is the difference between the largest and smallest numbers)











There are several solutions for this problem including:





3, 3, 4, 5, 10


1.5, 3.5, 4, 7.5, 8.5.





Try and find some more. Try starting with the median and build from there. 




















Use any arrangement of one of the following sets of 8 numbers:





1, 1, 1, 2, 2, 2, 3, 3





1, 1, 1, 1, 2, 2, 2, 2





E.g.


�





Place those numbers which match the left criteria in that circle, the right criteria in that circle, both criteria in the intersection and neither criteria in the universal set, outside the 2 circles.


�





There are several solutions including:





2,5,67,809,431


3,5,67, 829, 401





Try and find some other solutions, using these hints:





What could the units’ digit of a prime number be?





What does this tell you about two of the prime numbers?





Where must the zero go?





Remember a prime number is a whole number greater than 1 which has exactly 2 factors, itself and one. 

















23





It is impossible to make 37 from an even number of odd numbers.





You can make 38 and 36, using an even number of odd numbers or 37 using an odd number of odd numbers.











Hint: 





What numbers can you make?





Do they have anything in common?





Have you made 37, with a different number of numbers? How many? 
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